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Authoritarianism:

Why turn to authoritarianism?
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Germany Under the Swastika:
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 Why Germany is Upset:

 What Hitler Promises

 1.





2.





3.

 4.





5.





6. 

 Who does Hitler Target?

  Examples:

Precursors to The Second World War

1. Spanish Civil War. Year__________ 
WHO:______________________________


       Main Points/Relevant Details:
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2. Appeasement. Year______________
WHO:______________________________


     Main Points/Relevant Details

 Outcome:


Canada’s Response To Growing Tensions

 Isolationists: Uninterested in affairs outside their borders.

Why is Canada isolationist?

  Mackenzie King Meets Adolf Hitler

First Impressions:

What does he have in common with Hitler?


The SS Saint Louis, a shameful episode in Canada’s past. Explain relevant details:
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Authoritarianism: Strong leader(s) control ALL aspects of Citizen’s lives. Rule with an Iron Fist (Ie: Leisure time, Religion, Political Views)
Why turn to authoritarianism? In times of chaos, People want to see return of order. 

Germany Under the Swastika:


 Why Germany is Upset:

Treatment after WW1 – Treaty of Versailles, Reparation payments. 

 What Hitler Promises

 1.
Overturn the treaty of Versailles.   2. Put people to work       3. Fix the currency problem
 4.
Rebuild farms

5. Pump money into public works     6. Restore German pride.
 Who does Hitler Target?

-Needs a scapegoat: Jews, Gypsies, Homosexuals, Mentally Disabled.

Precursors to The Second World War

1. Spanish Civil War. Year: 1936

WHO: Elected Socialists VS Fascists (Grm/It)

       Main Points/Relevant Details:


-First use of Tanks/Aircraft (together)

-Socialists + International Brigades Vs Fascists + Grm/Italy


-“Mackenzie-Papineau” (Canada) International Brigades join
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2. Appeasement. Year   1938 
WHO: Britain/France towards Germany.

     Main Points/Relevant Details

-France/Britain give Hitler what he wants to avoid going to war.
-Casualties of WW1 still on mind
 Outcome:

-Hitler takes Czechoslovakia in 1938. Invades Poland in 1939. 
-WW2 starts
Canada’s Response To Growing Tensions

 Isolationists: Uninterested in affairs outside their borders.

Why is Canada isolationist?

-In midst of Great Depression
-Had suffered casualties in WW1
  Mackenzie King Meets Adolf Hitler

First Impressions:

“He was the sort who truly loved his fellow man” – Likes Hitler a lot. 
What does he have in common with Hitler?

-Both are anti-Semitic. 

The SS Saint Louis, a shameful episode in Canada’s past. Explain relevant details:

“None is too many” immigration policy. 
-900 Jewish Refugees ask for permission to dock in Canada
-Forced back to Europe

-Most on board die in Concentration Camps
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10,000 Jewish people should be allowed to emigrate to Canada.  – Thomas Crerar. – Liberal Cabinet Minister (Overuled)





Name: Adolf Hitler





Party: Nazi (NSDAP)
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10,000 Jewish people should be allowed to emigrate to Canada.  – Thomas Crerar. – Liberal Cabinet Minister (Overuled)


























